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MISSION SARTHAK 2019
Term-1 (16-02-2019)
Time-Two hours Class-10
Subject-English
General instructions to the examiners:
(1) Candidate must first write their Roll Nos. on the question papers.
(2) All the questions are compulsory.
(3) Write the answer to each question in the given answer book only.
(4) For questions having more than one part the answers to those parts must be written
continuity
(5) Write the correct serial number of each questions as mentioned in the question paper.
Section-A (GRAMMAR)
1. Join the following sentence using the given relative pronoun
i. Geeta lives in Jaipur. Her son is an engineer. (whose)
ii.The shopkeeper cheated him. He trusted the shopkeeper very much. (who)
iii. The man was selling balloons. The police caught him. (whom)
iv. It is a book of stories. The stories are interesting. (that)
2. Change the following sentence into indirect speech
(i) Ram said to Savita,” I couldn’t come on Sunday”.
Ans. Ram told Savita..........coeeveneininnnn
(i) The teacher said,” Why did you not complete it earlier?”

Ans. The teacher asked ..........ccovvveiiiiiiennes
(iii) The student said to the teacher,” Sir, I have already applied for that.”

Ans. The student respectfully replied............oocieinervinnnnrneinen
(iv) He said to me,” What are you doing here?”
Ans. He asked Me......ovneniviiiiniimreniiteen

Section-B (TEXT BOOK) Marks 6+6
Read the following passage carefully and answer the questions that given below:

We should remember that a contented mind and healthy living can help to keep free from
many diseases. In some ways, it is easier for the people, in developing nations to achieve positive health,
because they have more, close knit social systems, with better communication between people, than do
many people in wealthy and developed nations. With very little by way of resources or sophisticated
medical facilities we can achieve positive health for the majority of individuals in our communities.

M.M-50

together in

Marks 4+4

Questions:-
3. What can keep us free from many disease?
4. Why is it easy in developing nations to achieve positive health?

5. Which two types of countries are being compared?
6. How can positive health achieve for the majority of individuals in our communities?

7. Pick out from the passage the word which mean:
(i) prosperous (i) highly developed
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Read the l'nllm\‘ing passage carelully and answer the questions that given below:
It he opened the door, a ludy came out. ‘The king always chose the ladics himsclf. He made
sure that cach was of the same age and status that the accused and that she was beautiful. The rule was
l‘lml‘lhc accused was marry her to immediately. 1t didn’t matter if he were already married and had a
1:11\1}!,\. I'he lady was a sign ol his innocence, so il the accused already loved another, that other was to
be torgotten. 1t was the kings way. He allowed nothing to interfere with his design.
Questions:-
8. What did the king make sure about the lady he chose?
9. What was the rule if' a lady came out of the door?
10. What did the lady signify?
1.1 tl.\c accused already loved someone, what can he do?
12. Write the word from the passage which is opposite in meaning to-

(1) Guilt (1) Clear
13. Explain any one of the following stanzas with reference to context:

To expose feeling is to risk exposing your true self.

To place ideas and dreams before a crowd is to risk being called naive.

Or

The friends who had left me come back everyone.

And darkest adviser looked bright as the sun;

I need them no more, as the all understand,

[ thank thee, I trust thee, my good Right Hand.

14. Answer the following question in about 30-40 words
(i) What is the greatest hazard in life? (Risk)
(ii) Who is truely free and why? (Risk) 8
(iii) Why did the poet feel disappointed? (My Good Right Hand)
(iv) What was the result of his trust in his good Right Hand? (My Good Right Hand)

15. Answer any one of the following questions in about 60 words:
(i) How does think-t (The book that saved earth) 5

ank describe the earth?
(ii) What type of terms have developed in britain in context to negroes? (The betrayal of faith)
estions in about 30-40 words:
the earth? ( The book that saved the

16. Answer any three qu
(i) What hinders Think-Tank’s planning of invading
earth)
in the office room. Why? (A Hero) 9
ack the dishes? ( A man’s True son)

(ii) Swami was quite upset
(iii)Why did the gentleman

(iv)How was Babuli fed during his stay at home when
ords on « The importance of Traffic Lights”.
4

17. Write a short speech in about 80 w
Or

order his servant to bring b
he was a student? (The tribute)

What is carpooling? How is it useful?
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